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Subject Code: 330602

Date: 22-11 -2016

Subject Name: Hydraulics

Time: 10:30 AM To 01:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)
Q.1 (a) Defijne the following.
(1) | Hydrostatics (2) Ideal Fluid (3) Specific Weight (4) Cohesion and
Adhesion (5) Surface Tension (6) Specific Gravity (7) Capillary
sl 1w ol Aettell caltvarl 40
(V)] slseéls (2) ed uadl (3) QR dwet (¥) 813l dal
AR (W) Yrelal () [@QRe wotcl (9) dusrlal
(b)  Explain different types of Pressure and their relationship with line sketch.
ol EL YEL USIReAl EGMIBN Ul Aol cRAell Asite] Aleet WUl clet
EQI
Q.2 (a) Conyvert the Following.
i) 40 cm of oil of specific gravity 0.8 in meter of water.
i) SOKN/m” gauge pressure in to absoluie pressure.
sl 2w o{lAell wrcal YHIA ¥l
(1) ]0.c QR dotcl cto ¥o A 2Wsctatt QA Welell @ i
$dl.
()[40 kKN/m? dl% £6llglal Moeee E6RIHL ¥Rl
(b)  Statg and Explain Pressure Measuring Equipments.
ol EGRL HIUClodl el wRULAl dell Ao adlet 53
OR
(b) A rectangular plate of 2 m X 3m height is immersed in water vertically such
that|its 2m side is parallel to and at a depth of 3m below free water surface.
Calcgulate total water pressure and depth of center of pressure.
of 2l x 3l Gy awll doRA W@e weldl Al AA geusal
Ul B % Aell 2 Hl cuyy wgllell Yot 2udlA dHic ada 33
GstpA B.ulle] sc eollgl AHe elod Ba ofl Gsies AL
Q.3 (a) State and Explain types of flow in a pipe.
.3 A oofl ekt yallgatl sk weidl dal Ao aslet 531
(b) A 40 cm X 15 cm venturimeter is fixed in a pipe carrying water. If deflection
of mercury u-tube manometer is 25 cm and Cy = 0.98 calculate discharge.
o As|WRll @ wcdl weudl ¥oRll x A of Acyllle: K3 B.
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‘ OR
Explain Reynol@'s Number.

A fluid having kinematic viscosity 21.4 Stoke is flowing through a pipe of 30
cm diameter. If discharge through pipe is 15 lit/sec, decide the type of flow.

REs ook WAL 30 All ol wesumisl cdal As Yeusledll
sAaRN8ls a8lfldl 2.y ¥s B, R Weust yeausal €2 au dlez/

Ass Sl A yclsodl Ysi2 oAy 53\,
List the practical} application of Bernoulli’s equation and explain any one.
oollel wllsRQietl caasly GuALNGl el ool da Sl ugl As

awqtcﬂ.

Explain Hydraulic co-efficients and their relation. Also explain method to find
Hydraulic co-efficients in laboratory.

wellal olial da Auell cRAA 2oly wHo A Yot sclla
2[Gtsl eltictiofl fet Amos A,

A 90" v-notch is used to measure the discharge of water. The depth of water
above notch is 30 cm. Calculate discharge in lit/sec if C4=0.62

As 0% ol ASQUSIR Winad Guaal yale €2 allual H2 sdH
8. wia w2 wgllell G 30 1l B, A c=0.52 Aa Q yalg €2

.

OR
A Jet of Water is/issued from 4 cm diameter orifice under a constant head of
3m. Vertical and Horizontal co-ordinate of a point on a jet measured from
venacontracta are/40 cm and 2 m respectively. Calculate C, and Cq if Cc=0.63

As URllell A2 ¥ Al caliztott AL umiel 330 ot AN oY dsm
A 8. Ao Slatsetell Weu Ay ug GleA Ged da ARy weg)

UopsA ¥oRA| a2 {l B8R C.=0.93 da A C, el Cg 20N,
Derive formula for finding discharge over rectangular notch.
AotRY WiaeHiell Yels €2 siclle] Yot ARdl,

Explain various Head losses in pipe flow. Water is flowing through 60 cm
diameter 1250 meter long pipe with a velocity of Im/sec. Find head loss due
to friction if f= 0.004

WEUaAL YeUSHL Ul yelyel R ezt ymon Al

As 12u0 Hl cloll da so Al ol Wweuni well 4l Ass40

AR g B. A =0.004 St A UrigLoll 5120l RN 2 A,

State the conditions for Most Economical Rectangular section of Channel.

A rectangular channel is having cross sectional area 30 m? and bed slope 1 in
1200. If Chezy’s Constant C=60 , determine the dimensions and Discharge for
most economical section,
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OR . .
A pipe line 3 km long: comprise of 30 em diameter for first 1 km , 25 cm 07
diameter for next 500m and 20 cm diameter for- the remaining length If the
pipe is to be replaced by uniform diameter, find equivalent diameter

As 3 S0 elell wouell wden 1 S cuy 30 Wl B, oflat uoo 09

ol ui cau 2w Rl B uA whlol clonsii cun 20l B, A L
WU Ws Ul ARl weuel vecanl wa A uusal utaucﬂ'

—RMH MR

(i) Differentiate Centrifugal and reuprocatmg Pump - ' 07
(ii) Write short note on *Specific Energy Diagram’. o

(1) Bonetloll wiv et 2Bl i Al estciet G,  0d -
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